A £ 0Ol & A H Ml A
O2AAE =04 BB 25|
SN 2HSD
I HHSAAY|(2SHS D)
o2t J|=3H| (crel: M)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
SIS o 20, 103,657 18,752,042 1,351,615
= 1,067,100
p 1,407,285
< 1,252,650
= 75,000
z 14,301,622
] 2,000,000
EEEEEEEEFENY 25,620 25,620 0
=3 25,620 25,620 0
PICET 25,620 25,620 0
201 2er2g| 16,980 16,980 0
01 AFR2t2lH] 14,980 14,980 0
O =AML S E| 100,00084%17¢! 1,700
OAFRID| & ZAIE 7,700,00024 7,700
OJ|Et==2H| 1,500,000 1,500
OIS UL RS
8,00024+1721+304! 4,080
02 B2 2,000 2,000 0
2R3 S 2,000,008} 2,000
202 01t 8,640 8,640
01 =LHoIHI 8,640 8,640
Ozelotl(ss3l)
180, 0002145 E4+122 8.640
HHIX S (SSH S 3,600 3,600 0
SNEE2Y 3,600 3,600 0
SEEEET 3,600 3,600 0
203 21| 3,600 3,600 0
04 RNSZLFaY| 3,600 3,600 0
ORNegezaY| 300, 00024 122 3,600
EENERE 5,973,9% 5,414,488 559,506
b 906,299
= 491,072
= 25,000
z 2,951,623
ol 1,600,000
230z HAEN 2F 1,864,496 1,716,076 148,420
b 271,299
= 245,497
z 1,347,700
=Stz 2o 247,806 264,806 A17,000
201 22| 76,756 76,756 0
01 AFR 22l 74,180 74,180 0
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2AM: IS
M 2oz A
ctel: Eolils BAIED =2 (Crel: Xl
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OFsti=8Am 8 =2 M
55,0003 %403 2,200
OS2 =2d)=s4 2
3,000,000&*11JH 4 33,000
O2stils=d "Witeld &Y
100,000 50123 1,000
OUHZRE=TEI| 2 AMoRRT EA
=g 100,00024%8921%43] 3,200
Ot s 2 JMAISS0E |4 &
At=g 300,000 %201x43| %122 28,800
O=gAHdE =M 28|
500,000 +33] 1,500
OZ2gt(2sto=RF=X)
8,000& *721x804] 4,480
02 Z523| 2,576 2,576 0
OZS=AL LB RBRS 2,576
0s Yl 2,180&*7000H 1,526
0y &t 3502 +3, 0000H 1,050
202 (bl 16,800 16,800
01 20| 16,800 16,800
OFs=gf+d
200,000&x721x 123 16,800
203 LR F&| 3,000 3,000 0
03 Al HFERHRFEIH| 3,000 3,000 0
O=tHEHRFE 1,000,000 1,000
OFREsMAIH =& 1,000,000 1,000
OZst0=& A= 1,000,000 1,000
301 LBEAEZ 2,250 2,250
11 HAAHIX 23 2,250 2,250 0
O23M=3A 2#A(E,5Y)
15,000&*30Q!%53| 2,250
307 212to1™ 149,000 166,000 A17,000
02 CIZHEAAIRIE X 98,000 136,000 A38,000
OFSoIE=0| 4 K& 5,000,000 5,000
ONEZ0IR Z2t 8,000,000 8,000
OdHItet 2 25,000,000 25,000
OAISHR| BHE 22t K&
30,000,000 30,000
O&rE S HE w2t X2
30,000,000 30,000
04 DIZHHAIAIEE X 51,000 30,000 21,000
OMAZBANEOE S MESA XIS
5,000,000& 5,000
O&=zAZ=ZEUE K& 8,000,000 8,000
OttE=s2Z Al XA 28,000,0002 28,000
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2AM:
T ZH -
o /e

cH):

22
TH Wy 310

[0 HO MO
ol foi fol

=
A8 2

HEE

2N B S9I(3) - MRAY - BAS Ofl o S aton tImE==,
OS&s01IIEGA AKX
10,000,000& 10,000
HESUIZEEH A 180,000 50,000 130,000
& 40,000
i 140,000
307 212t01™ 180,000 50,000 130,000
& 40,000
i 140,000
04 QIZHHAIAIE 2= 180,000 50,000 130,000
OEYHHIZS=EH X
180,000, 000% 180,000
[ 40,000
i 140,000
X2l A SHHl o 30,000 30,000 0
307 212+0| & 30,000 30,000 0
04 DIZFSHALAIRIE T 30,000 30,000
OXlelstE et l K& 30,000,0002 30,000
sg=zsol=sH 326,690 290,070 36,620
| 231,699
& 28,497
i 66,494
308 AtXIHHMSO0I& 326,690 290,070 36,620
| 231,699
[ 28,497
i 66,49
13 SO 2SO SHE A X RIETALI] 326,690 290,070 36,620
Osgzstolgd 326,690,000 326,690
| 231,699
[ 28,497
i 66,49
S ESIHIE AL 100,000 80,000 20,000
307 212+0| & 100,000 80,000 20,000
04 DIZFSHALAIRIE T 100,000 80,000 20,000
OS2 W23NE ALK 70,000,000 70,000
OHEERIER ¥ HESYAS
30,000,000& 30,000
LB 2= HAL 148,000 75,000 73,000
201 2EH2 | 93,000 40,000 53,000
03 A2 93,000 40,000 53,000
O=2dIgot S¢3 20,000,000& 20,000
O2LSH, HHEEESFE2H 2,000,000& 2,000
OXIAED| Y ARZ 2oHAL 2Y
20,000, 000& 20,000
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2A: 2K
M 2oz s
ol E230ls AR 2Y CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OSH ZTHRI| A 2Y
1,000,000 %1101 A 11,000
OtE%E S35 40,000,000 40,000
307 SI2t01 & 55,000 35,000 20,000
04 QIZISHAIAIREE X 55,000 35,000 20,000
OTAIY BYZE SU3 15,000,0002! 15,000
OFFs%32l 40,000,0002 40,000
F3tHe| ALIZH AL 5,000 5,000 0
307 QI2H0| M 5,000 5,000
04 QIZHHAIAIE B = 5,000 5,000
O=23he| A-d3d 5,000,0002!%13 5,000
ZH0=SHHAL 137,000 209,200 AT72,200
201 L2 3| 5,000 6,000 A1,000
03 A2 FH| 5,000 6,000 A1,000
OR0=3HE#A 2 5,000,000 5,000
301 LEEBHZ 2,000 3,200 21,200
11 HARHIXIRZ 2,000 3,200 21,200
O2sttl==HHAL &N
8,0002%2500! 2,000
307 QI2H0| M 130,000 200,000 A70,000
04 QIZHHAIAIE B = 130,000 200,000 A70,000
OS50 =2 oA 130,000,000 130,000
I A2 RIS AN K &) 180,000 180,000 0
& 90,000
= 90,000
307 SI2t01 & 180,000 180,000 0
& 90,000
o 90,000
04 QIZISHAIAIRE X 180,000 180,000 0
OJ A= HA Nzl (& EH
180,000,000& 180,000
= 90,000
o 90,000
2oz =312H 40,000 40,000 0
& 40,000
307 QI2H0| M 40,000 40,000 0
= 40,000
04 QIZISHAIAIREE X 40,000 40,000 0
OZLYEoIo=E &=3518H
40,000,000 40,000
= 40,000
MHIS0=T2 JIESH 60,000 50,000 10,000
201 L2 3| 60,000 50,000 10,000
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EAM: SHF
g 2sols s
o9l 2sils BAED 29 (crol: 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
03 A2 60,000 50,000 10,000
OS30S3I2 HIIBO BAL
60,000,000& 60,000
CXIAY gtleat AHEEE AU 80,000 80,000 0
= 30,000
i 50,000
307 2I2t01 ™ 80,000 80,000 0
= 30,000
i 50,000
04 QIZHHAIAIHE X 80,000 80,000 0
OSXIAHH Blost AHBEE Z0)s
80,000,000& 80,000
& 30,000
i 50,000
ge== 2aASZTA 66,000 62,000 4,000
Jl 39,600
o 26,400
201 28H=3| 66,000 62,000 4,000
Jl 39,600
o 26,400
03 A2 EH| 66,000 62,000 4,000
O=0gl2t)t Shcte LY== 25
66,000,000 66,000
7l 39,600
i 26,400
Az 2H0=AL XI2AI 10,000 10,000 0
= 5,000
i 5,000
307 212t01 ™ 10,000 10,000 0
= 5,000
i 5,000
04 QIZHHAIAIHE X 10,000 10,000 0
OMEIREES ME0I&20S
10,000,000 10,000
& 5,000
i 5,000
adEstdoz Y X 200,000 200,000 0
307 2I2+0| ™ 200,000 200,000 0
04 QIZIHAAIH E X 200,000 200,000 0
Ode=stZdoz 18 K&
200,000,000 200,000
H2d =Ml 24,000 20,000 4,000
& 12,000
i 12,000
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ord
K]
OH
[l

-

KIo

Hlw

4,000

4,000

10,000
10,000
10,000

20,000
20,000
20,000

439,686

40,000
8,520
2,520

PIE]=>
e

20,000

20,000

3,344,642

40,000
40,000
35,580
28,580
12,780

24,000

iy

12,000
12,000
24,000
24,000

H

H

12,000
12,000
10,000
10,000
10,000
10,000
20,000
20,000
20,000
20,000

3,784,328

H

635,000

Il

iy

234,500

KA

25,000
1,289,828

H

1,600,000

CH

40,000
40,000
40,000
40,000
44,100
31,100
12,780
600
1,200
1,200
100
2,640

30
W

Kl
KF
ES
& K
RES
o1 1107 1oy
0K OF OB

$: VoL

- SR(SIAH) - HRAHS

- H

A

307 212t0l&

2

12,000, 000& *2

=gl

t

H

p=1

[=1

03

a

30
W

il

|
ol

10,000,000
20,000,000

O=SBAII=X =3tHA

SHAIBIR X

OH

M0

220,000+ 122

=]
[und

2|

e

3

2l %1

=)

40,000,000

50,000& 123
100,000

100,000& 122
100,000& 123

2|

[=]
[uind

5l Xl

ol

b

=
[=)

=]
TN
01 AtS-2teld]
OARI1D] A&

308 Xt

30
O

0

A

0
E
z

15,800 2,520

5,600
360
15,600

18,320
2,000
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400,000& x22Z X7 2
120,000& 122
30,000& 123
1,300,000+ 128
2,000,000&*1
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2N 25HSH
HM: 2350 S
CHl: 231020 |BAIZaE Y 2ie| (crol: 221
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Oalet+E Q3 30,0002+ 122 360
401 A& BIL 20| 10,000 5,000 5,000
01 AI&HI 10,000 5,000 5,000
OAAESX el 10,000,000 10,000
405 RHAHESH 3,000 2,000 1,000
02 SN 3,000 2,000 1,000
O239E A7 3,000,000 3,000
EENENEEER 9,767 79,723 13,044
101 Q14| 2,987 2,913 74
M JIZH2RISES 2,987 2,913 74
OR3H02AES 22l L AKX 2,987
0olE= 78,8802%101%30 2,367
0F=RpE 78.,88091%101%4L 316
0=pIi=2 2,681,9201%4 . 5% 121
0=UHBEE= 2,681,92021+3.545% %
0L QIA)| QUL E 95,07421%12.81% 13
onEesE2 2,681,920 %1.75% 47
OATHEE 2 2,681,920 %1% 27
201 LB 6,880 5,560 1,320
01 AlR2t2lH] 400 400 0
OAHE23I0{2] HiSte4 £RAAl
80,00024%53] 400
02 2229 6,480 5,160 1,320
OME235IHE| AT R2
40,0004 128 480
Ot Esi2| ®IIe3
500,000 %122 6,000
401 AlEHI 2L 20 76,000 59,000 17,000
01 Al&H| 76,000 59,000 17,000
OR3HSAES SXES
30,000,000 30,000
OAH 23 BT AL 30,000,000 30,000
OdZs FHEUIAIY 16,000,000 16,000
405 RHAHE SH 6,900 12,250 5,350
01 AU S EF SH 6,900 12,250 5,350
ONES3IE 21 2YeZ 19
6,900,0002! 6,900
MAE250 s 2P| 575,845 456,900 118,945
101 Q12| 60,005 58,431 1,574
04 JI2H2Z2XSES 60,005 58,431 1,574
O=2310235|12 2% QI 60,005
0122 78,8802 x201%2492! 39,283
0=Xt=< 78,880 R%201x502! 8,204
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2N 25HSH
HM: 230 s
CHel: 25H0=0| AL S S U 22 (CHol: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
0 Xt 78,8802 +201x 132 2,051
0=21%= 49,538,000 %4 . 5% 2,230
0HLEE 49,538,000 %3.545% 1,757
IRSEE 1,757,0002%12.81% 226
0UEEE 49,538,0002*1.75% 867
OMHHEE 49,538,000 * 1% 4%
EE=] 2,445, 2802 %20! 4,891
201 L2 A 204, 169 155,419 48,750
01 AFRZ2IHI 55,629 40,569 15,060
OYt AIREZ ¢ 50,00024% 122 600
OStEX| 7] 60,0002 *80EFA 4,800
OBARE 7Y 150,000 * 122 1,800
ORzZstatd Do 250,000 *43] 1,000
OYeHl & AEM 2
100,000 %123 1,200
OUE+== 30,0002 x2Z5+ 123 720
OF£D| 22| 52,9002 *12& 635
O=R0IAH |22 230,000 * 123 2,760
OeL=s 150,000 *63 900
OX220i|5| 21815 A/
4,000,0002%13] 4,000
ORASAABYXIZ 3|
1,000,000 13 1,000
Ogugs A2 12,0002 * 122 144
ogstae| =45 250,000 %12 3,000
OAZAIL THH EHSIISEHY £42
1,000,000 %23 2,000
OMIIQHEEA 3 =42
1,000,00024+ 122 12,000
OHI| HI|UHHBA =42
1,000,0002 13 1,000
Oz HEFY 42
180,000 * 12 2,160
OS2I HIZA =22
300,000 *13] 300
OMUSHARIIA SN AT FI|BA 2=
= 150, 0002413 150
O] A =2 500,00024%27| 1,000
ONAMEET Q2 HA 228
400,000 13 400
OB IS &5 442
2,000,0002 %23 4,000
O25H0s3/2 D122 84|
10,000,000 10,000
OS2 BAHAL JIDIXEX WS
60,000%13] 60
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2N 25HSH
HM: 230 s
Pl 2SH0IS)IBAE S a (Crel: Xl
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
02 2229 148,540 114,850 33,690
02223 % Al 78,140
MBI RIIA ALDH AU E 2
60,00024%13] 60
((EA=gel FSE==Y=1lu] 80,000 13 80
0MI |22 4,800,000 12 57,600
0&lol=C AlZ2 1,700,000« 122 20,400
OAlIEZZHI |l 20,000
0J1H&Hl ARL 2elaH
50,0002 %105+ 122 6,000
022 OFZ 40,0002 %150 £ 6,000
0222 RX82 22
2,000,000&4%27| 4,000
02 M2t Y HH 2,000,00024%27] 4,000
O¢2H| 50,400
DA 230232 TADIA AR
4,200,000 %12 50,400
401 Al&HI L2 0HH 311,671 243,050 68,621
01 Al&H] 311,671 243,050 68,621
OJIH& Rs&Hl S22
2,000,000&4%27| 4,000
OUBHE HAIL WA
6,000,000 *2CH 12,000
OUBHE, ADHE [UHZY HT Q|
300, 0002 *20CH 6,000
OUZBHE 20 FSAd 228 7Y
45,0004 10CH 450
OUSHA 2 = J|H&H| HY|
5,000,0002 %23 10,000
Oty ALHD| A L Ny
160, 0002 *35CH 5,600
OJIHE SlIHED Wite)| D
232,000,0002* 14! 232,000
OUZHE 2E0I0|TAIAE =
5,500,000 *4CH 22,000
O=24t == A 17,567,000 %1 Al 17,567
OUETAH A} 2,054,0002 % 14! 2,054
MOR HETHE HROIAIY 5,000 3,000 2,000
[ 2,000
= 3,000
308 XXIEHRISOIA 5,000 3,000 2,000
[ 2,000
= 3,000
08 WEI|2ICHEHE =X 5,000 0 5,000
OMoZ HEGH= R0
5,000,000 5,000
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SN 23S
HM: 230 s
CHel: 25H0=0| AL S S U 22 (CHol: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
[ 2,000
= 3,000
SHEAHI25 PRI 2H 22 44,000 9,900 34,100
201 L2 14,000 9,900 4,100
01 AF222IHI 14,000 9,900 4,100
OAYAIL HIIEA 42
1,300,0004x23] 2,600
OJIHAH sX2e 88 4,100,000 4,100
OUIIQYEAIM HIE =X 228
1,300,0002* 13 1,300
O A ==& 4,000,00024%13] 4,000
ONa==x HA 900,000 *23] 1,800
Ox&3M =25 100,000 #23] 200
307 212+0|& 30,000 0 30,000
05 QIZIQES 30,000 0 30,000
ONHI25 R 29 21| K&
2,500,000+ 101x 122 30,000
SHEAHI25 PR HE AL AP 1,100,000 950,000 150,000
7l 635,000
[ 232,500
= 232,500
307 2I2H0| & 913,500 950,000 136,500
7l 635,000
[ 232,500
= 46,000
02 QIFAAAIRIE R 913,500 950,000 A36,500
OBt=24H|25101 22 HEoi
913,500,000 913,500
7l 635,000
[ 232,500
= 46,000
401 AlEHI L2 0HH 186,500 0 186,500
01 Al&H] 186,500 186,500
Ost=4H|25101 2 AIE2 S 22
186,500,000 186,500
J|at=otg e g e 144,816 66,939 77,877
101 @124t 15,966 15,499 467
M IIHH22ISES 15,966 15,499 467
OJlar=2ete 22| 15,966
0123 78,8802% 1011302 10,255
0=Xt=< 78,8802 101x502! 4,102
0=2%= 14,355,00024 4. 5% 646
0HZEE 14,355,00024%3.545% 509
0013 RYES 509,000 %12.81% 66

_390_




2N 25D
HM: 230 s
CHel: 25H0=0| AL S S U 22 (CHol: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
0NEZE 13,929,760 %1.75% 244
0MTHES 14,355,000 % 1% 144
201 L2 A 37,850 25,440 12,410
01 AFRZH2IHI 16,250 11,040 5,210
OLeANRES 7Y 150,000 * 12 1,800
OAIRI1D| 228 150,000 * 12 1,800
ORZE8E 7 450,000 %122 5,400
ORoldtle=+2 350,000 %122 4,200
O258 Jtok= £ 1Al 610,000 *5CH 3,050
02 222 21,600 14,400 7,200
oMIIR2 1,500,000 122 18,000
O=kRs 50,0002 %122 600
Oostie= 150,000 128 1,800
OWHE)| LK 100,0002* 122 1,200
401 AlEH| 22 OHH 88,000 26,000 62,000
01 Al&H] 88,000 26,000 62,000
OJlar=2otet U J|AH SXE4
41,000,000 * 14! 41,000
OJ|Ar=2otet [HEt B2 AL
25,000,000 %14l 25,000
OJ|ar=20tet HIDIZIAIA A XIZAL
22,000,000 22,000
405 KHAHE SH 3,000 0 3,000
01 AU SEFSY| 3,000 0 3,000
OJat=Rety 29 22 1Y
3,000, 0002 3,000
oty 2gate| 43,900 41,600 2,300
201 L2 43,900 36,600 7,300
01 AFR2t2IHI 23,500 18,600 4,900
OX2H52 HAD| SXE
7,000,000 %2CH 14,000
O&=2datzt 82 500,000+ 12 6,000
O2INE =5 L A2 L I8 ZA
3,500, 0002 3,500
02 2229 20,400 18,000 2,400
oXlIg= 1,700,00084 128 20,400
SH| OI=EE ME HBAIY 1,600,000 300,000 1,300,000
cH 1,600,000
401 AlEH| 22 OHH 1,600,000 300,000 1,300,000
cH 1,600,000
01 Al&H] 1,600,000 300,000 1,300,000
OsH| o2 dE A
1,600,000, 00024 14! 1,600, 000
CH 1,600,000
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23S
230 &M=
S3t0I=IIBAIE | (Crel: & 2l)
SA - EHH - SR(E) - HRAI - BES Gl imE=T
od REz2 29 37,500 6,000 31,500
201 etz 8,400 6,000 2,400
02 3324 8,400 6,000 2,400
OFII2 700,000 %122 8,400
401 AEBIZ 20| 28,200 0 28,200
01 Al&H| 28,200 28,200
OSEAE 20,000,000 % 14! 20,000
O CHLY 4,100,000 %A 8,200
405 Tt S 900 0 900
01 XL 2FF 900 900
Ooll=2| & =
900, 000& 900
MY RES2 22 31,400 31,400
201 etz 8,400 0 8,400
02 2324 8,400 8,400
OFII2 700,000 122 8,400
401 Al&HIZL 20| 23,000 23,000
01 Al&H| 23,000 0 23,000
Ot K32 DADME
20,000,00021% 141 20,000
OLE R 32 Setele t
3,000,000 14l 3,000
StaMHIZSH PR A0tE Xl SAt 25,000 0 25,000
s 25,000
401 A EBIZ 20| 25,000 0 25,000
= 25,000
01 Al&H| 25,000 0 25,000
OFt=24HI125e1 7S S ZHAX SAF
25,000,000 25,000
= 25,000
LHE2H 2G| 325,170 353,770 A28,600
& 11,075
= 314,095
SFEANZTZAKIA 15,000 20,900 25,900
= 7,500
o 7,500
307 QI2H0| M 15,000 20,900 25,900
= 7,500
o 7,500
02 QIZHBAANSBEE 15,000 20,900 A5,900
OSEAI2 15,000,000 15,000
& 7,500
= 7,500
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ord
K]
OH
[l

-

KIo

Hlw

25,000
25,000
25,000

212,000
212,000
212,000

3,000

3,000

3,000

A38,700

A38,700

A38,700

541,102

dEE
Ofl &b oK

142,550
142,550
142,550

27,520
27,520
27,520

10,000

10,000

10,000

152,800
152,800
152,800

3,914,621

11,000
11,000
6,000
6,000

1,000
1,000

167,550
167,550
167,550
167,550

15,520
15,520
15,520

15,520
13,000
3,575
9,425
13,000
3,575
9,425
13,000
13,000
3,575
9,425
114,100
114,100
114,100

iy

H

iy

H

H

H

72,000

8,300

10,000

23,800
3,373,519

i

1,067,100

Il

198,615

H

549,310

KA

50,000
1,508,494

H

11,000
11,000
6,000
6,000

6,000
1,000
1,000

o
=

80
0l Ok

_Ln.,&mm
LI
=S

iof o] D0
000K R

X
jils

X ZH
=5l

0

$: VoL

- SR(SIAH) - HRAHS

- H

A

o

80
0K
8!
ol
1]
10

307 212+0|&

o

0b
o

167,550, 000&

30
W

o
1104

307 212t0l&

]

30
0H
E|
ol
ol
i

8

KA
n0

t

242,500 +8

1[]

307 212t0l&

13,000, 000&

307 212t01&

300,000 #2401 Bt 102

o

8,300,000

i

10,000, 000&

&

23,800,000

ol

K]

1<

&

6,000,000

]
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EM: SHF
I 2594 BEH
el JtorEst 243t (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OJiok2etd es9ds &4
100,000& %10¢! 1,000
308 MAIHSOIH 4,000 4,000 0
13 SISO o4HAS A 4,000 4,000
OJtok2etd AIZEsR3 ddHsia 26
3 4,000,002 4,000
dS=Ee 2& € 85 89,400 95,900 26,500
& 18,800
[ 70,600
Fu23 Hsed 28,000 25,500 2,500
307 2I2+0| ™ 28,000 25,500 2,500
02 CRIBAAGEE 28,000 25,500 2,500
OAHE - BHE s SXEH X2
10,000, 000& 10,000
O - Mg Riell X2t
1,000,000+ 100 2 10,000
Ottd &l AFRE Miell & g4l & "AH
N 2,000,0002 2,000
OAHE - SIS 1201 BAF IR
3,000,000 20K 24 6,000
SuEstHs X2 40,000 49,000 29,000
= 12,000
o 28,000
307 2I2t01 ™ 40,000 49,000 29,000
= 12,000
i 28,000
02 QIZHHAAIEE X 40,000 49,000 29,000
O - o] E514 29 X
20,000,000& 20,000
= 6,000
2 14,000
O - 8D SRS HSA X8
20,000,000 20,000
= 6,000
i 14,000
FEEME SIS 21,400 21,400 0
& 6,800
i 14,600
307 2I2+0| ™ 21,400 21,400 0
& 6,800
i 14,600
02 I B AP E X 21,400 21,400 0
Ok = SOHgAI X2
10,000,000& 10,000
= 1,100
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2A:
X{XH -
o /e

ek

Ao o =
9l 1z 30
el
I
o E
]

[0 HO
Ofm ton ton
I
hl

Bl
ol

SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
= 8,900
O P23 Mz wsHl X
950,000+ 122 11,400
< 5,700
E 5,700
AEXIXIZ Ol 243} 570,671 440,471 130,200
= 25,000
S 7,500
E 538, 171
AET SXI2e 520,671 440,471 80,200
101 Q1244 57,5% 47,655 9,940
04 JRR2ZNESS 57,5% 47,655 9,940
OSE2E M4z el 24,684
0122 9,8602#1QI+BAI2H3122 18,458
0FXtag 9,860 1Q1*6A| 2452 3.077
WfpyES=t 9,86021%1Q1xBAI 2t 11 651
0RHIEER 22,185,00024%4. 5% 9%
02AALEZ 22,185,00023.545% 787
0LAQUBEE 787,00024%12.81% 101
ni=E T 22,185,0002%1.75% 389
INEEE 22,185,00024% 1% ez
OLgIIg2 22 32,911
w2 78,8309 %101x312 24,611
(ESES=! 78,880 101x52! 4,102
(febyEs=t 78,88024%101x 112 868
0301013 29,580,000 %4. 5% 1,332
02AALEZ 29,580,000 +3. 545% 1,049
ORI QU E
1,049,00024%12.81% 135
ongesz 29,580,0002*1.75% 518
IEEE 29,580,0002* 1% 2%
201 Ler2g| 49,876 49,516 360
01 Al22r2|H| 31,240 30,880 360
OgglIg2 29 3,240
OAIRBE U U2
50,0008+ 128 600
0ROIPHIAIAL a2
220,00024* 122 2,640
OSZL28 43| 7
27,500 2420 %40 2 2,200
OSEAX M4+ 29 3,240
OAIRBE U U2
50,0002+ 122 600
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2N 25D
NI 23R4 BE2L
el AEXIXZS Edst (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
0SOIHHIAIAL 28
220,0008!* 122 2,640
OSIIMIEISAE 2o X222
100,000 %321%503] 15,000
OSHAIISX 2= M=
2,500,000 2,500
OXASA 2|2 HI& 2,500,000 2,500
OSZHI(25HH L2=A)
8,000 4015804 2,560
02 222YH| 18,636 18,636 0
OS5 HI|QHE AL
40,0002 %5400 & 2,160
OgaEl)|=a 29 6,516
(Fsplier= 500,000 12 6,000
0S4Ra 40,0004 128 480
AT AIBE 3,0002%12& 36
OFgdE I3 100,000 % 12 1,200
OSZ2E M4t 29 8,760
(Fsplier= 650,000+ 12 7,800
04122 40,0002+ 12 480
0ME AIRE 40,000 122 480
202 OiH| 4,800 4,800 0
01 2LH0IH 4,800 4,800 0
O3 HP48 100,000 *401x 122 4,800
307 120 ® 378,400 338,500 39,900
04 QIZHHAIAI B X 60,000 60,000 0
O2EM Y HESYHIMI| WS
40,000,000 40,000
OSHAINRX HE T2 2
20,000,000 20,000
05 QIRtES 318,400 278,500 39,900
OSHAIHNSX 2 68,000,000 68,000
OSZ2AE M4 29 T2 X
50,400,000 50,400
Odtye=at 29 200,000,000 200,000
401 AlEH| 22 OHH 30,000 0 30,000
01 Al&H] 30,000 30,000
OXAl SF = SHFHIAIY
30,000,000 30,000
AR OIHIS2EHH A XIRAHY 50,000 0 50,000
= 25,000
[ 7,500
z 17,500
207 S1IH | 50,000 0 50,000
= 25,000
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2AM:
X{XH -
o /e

cH):

el
&3t

S B SRI(BH) - HRAY - BAS

PIE]=>
e

Mo

7,500
17,500

01 22|
02024 AHH OlBIZ2HH A XIRAS
50,000, 000&

HH W

50,000

50,000
25,000

7,500
17,500

50,000

HH W

1,100,214
745,150
177,532
177,532

2,333,490

A1,233,276

AF

E A OE4E F=HEdIAE

Mo W

35,000
24,500
5,250
5,250

35,000

401 AlEHIZLSOHY]

Mo W

35,000
24,500
5,250
5,250

35,000

01 Al&H]
Oud HEAM S NSE+ 2HES

35,000,000&

MW

35,000

35,000
24,500
5,250
5,250

35,000

MW

31,000
15,500
7,750
7,750

31,000

401 AlEHIZSOHY]

H H W

31,000
15,500
7,750
7,750

31,000

01 Al&H]
O&td gAlits o €& oiM=E=

31,000,000&

H H W

31,000

31,000
15,500
7,750
7,750

31,000

H H W

94,000
47,000
23,500
23,500

110,000

216,000
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EM: SHF
I 2394 FE
£l FNE S E == EEEED
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
401 AIZHIZL S0 94,000 110,000 216,000
= 47,000
= 23,500
o 23,500
01 Al&H] 94,000 109,230 A15,230
Ot eHAi0le o & M=+
94,000,000& 94,000
= 47,000
= 23,500
o 23,500
G N FEFE FHIHIAE 30,000 270,000 2240,000
= 21,000
= 4,500
i 4,500
401 AIZHIZ 20| 30,000 270,000 240,000
= 21,000
= 4,500
i 4,500
01 Al&H] 30,000 268,100 /238,100
Oty & &8 A B
30,000,000 30,000
= 21,000
= 4,500
i 4,500
&Y SHAIBRX 2AlE 15,000 0 15,000
= 10,500
= 2,250
o 2,250
401 AIZHIZ 20| 15,000 0 15,000
= 10,500
< 2,250
i 2,250
01 Al2Hl 15,000 0 15,000
O&td SHAM R Aa=E NSE=
15,000,000 15,000
= 10,500
< 2,250
i 2,250
A AL HEHE FHIUIAE 50,000 0 50,000
= 35,000
& 7,500
i 7,500
401 AIZHIZL S0 50,000 0 50,000
= 35,000
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2AM:
T ZH -
o /e

cH):

B

= Ao 2t
0% 1z 30
H
M
el
]

HHo Mo
J ol o

Ao
Loﬂ
I
1
o
Ho

W
[10

o4 P HDE2

S - BB CQ(B]H) - HIEAN - BAS Oll & Oil AboH

7,500
7,500

Mo

01 Al 50,000 0 50,000
OAFE YA 24 U DA 24 MY

= 50,000,000 50,000
35,000
7,500
7,500

(u]

bl

HH W

=
0z
1o
Jp
_>'__
o
00
2
i
g
0
(==
>
s

285,714 613,000 N327,286
200,000
42,857
42,857

HH W

5
[§)
e
N

=01 285,714 591,000 A305,286
200,000
42,857
42,857

Mo W

(01X TH) 285,714 591,000 305,286

285,714,000 285,714
200,000
42,857
42,857

Mo W

& BHEAK M HEAE HHEs 359,500 35,000 324,500
251,650
53,925
53,925

Mo W

401 AlEHIZLSOHY] 359,500 35,000 324,500
251,650
53,925
53,925

MW

01 Al&H 356,920 35,000 321,920
OMHE SHEAIXI N ASHE diFE4

356,920, 0002 356,920
251,650
53,925
51,345
03 Al CHHl 2,580 0 2,580
OAl& 2T 2,580,008 2,580

Mo W

O HEg BEE E+FEHIMY 200,000 0 200,000
140,000
30,000
30,000

Mo W

401 AlEHIZL SO 200,000 0 200,000
140,000

H

_399_




2AM:
T ZH -
o /e

cH):

B

= Ao 2t
0% 1z 30
H
M
el
]

HHo Mo
J ol o

Ao
Loﬂ
I
1
o
Ho
W
[10

- _ - Pl
2A - 33 - SRA(ZH) - HRAIY - BES Ofl &k oK ‘Oﬂ,‘qﬁ Hlws2

Mo
S
o
S
S

01 AI&H] 198,560 0 198,560
ONE S8 YBZ FUNSTASY

198,560, 000& 198,560

MO W
S
2
S

03 Al& S i 1,440 0 1,440
OAl& 20 1,440,0002 1,440

EXNEEZSE = 392,400 469,000 276,600
158,700
50,000
183,700

M

EXE 2aMEEHHIALY 337,400 464,000 126,600
158,700
178,700

MmN

401 AlEHIZL 20| 337,400 464,000 126,600
158,700
178,700

M H

01 AI&HI 337,400 464,000 126,600

O&rEstn B43UIAIY 50,000,0002 50,000
25,000
25,000

M H

11,000, 000& 11,000
5,500
5,500

MmN

80,000,000& 80,000
40,000
40,000

M H

30,000,000 30,000
15,000
15,000

MmN

Oatd Z20IM 3 E=3HIAE

09

23,400,000 23,400
11,700
11,700

M H

13,000, 000& 13,000
6,500
6,500

MmN
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2A: 2K
M 2oips BEae|
tel: SXHSSUES (cHol: x2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OArE AOHE AL =BT HIAY
40,000,000 40,000
= 20,000
= 20,000
O(HE DHEHE AN =B EBIAY
70,000,000 70,000
& 35,000
o 35,000
O&AHE AAIEAHEA 20,000,000& 20,000
KNLZSHH ASHAIE X & |A2elAY 5,000 5,000
201 LE23H| 5,000 5,000 0
01 AtR2elt| 5,000 5,000
OXE TN MOAIKH S ety
ER=N | 5,000,000 5,000
&Y ZEE REFES 4 50,000 0 50,000
e 50,000
401 AEBIZ 20| 50,000 0 50,000
e 50,000
01 Al&H| 50,000 0 50,000
Outs 228 sFE 41
50,000, 000& 50,000
= 50,000
J|Et2SHH AN 317,100 266,000 51,100
= 21,350
& 6,102
= 289,648
ZoHH=HEUIALS 160,000 130,000 30,000
401 Al&HIZ 20| 160,000 130,000 30,000
01 Al&H| 160,000 130,000 30,000
O=2st 28+ 50,000,0002 50,000
O23t = SZEH| L AAl2
80,000, 000& 80,000
O35 =¥ MaAE=2 A
30,000,000 30,000
AMMZSHTHALS 50,000 50,000 0
= 20,000
& 5,000
= 25,000
307 SI2t01 & 50,000 50,000 0
= 20,000
= 5,000
= 25,000
02 QIZHBAAMNSBEE 50,000 50,000 0
OMMEISIRAAIY 50,000,0002 50,000
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2A: 2t
T 2HR BED
=l JIEFEHHAL CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 20,000
= 5,000
[ia 25,000
=SIAIE 22 HHE Fh| 5,100 6,500 1,400
= 1,350
= 1,102
[ia 2,648
401 AlEHIZLSOHY] 5,100 4,500 600
= 1,350
< 1,102
[ia 2,648
01 Al&H] 5,100 4,500 600
OS5 QT TH2 X
300,000 #1702 5,100
= 1,350
< 1,102
[ia 2,648
SWAME 23 2SAt 50,000 67,500 217,500
307 212t01& 50,000 67,500 217,500
02 BIZHE A E L 50,000 67,500 217,500
OB LMY 2SI HESAI (LS, AoHY
Ak 50,000,0002 50,000
CXIE23H eHHE HH| 52,000 52,000
207 A0 19,000 19,000
01 229 19,000 0 19,000
OS3 QT HHIS 98t 205 2
19,000,000 19,000
401 AlEHIZL 20| 33,000 0 33,000
01 AlZHI 33,000 33,000
O=22H etier J& 2 &X
11J122+3,000, 000 33,000
3 e 2te|Ab 341,534 234,760 106,774
Il 198,615
= 42,876
[ia 100,043
S Mt XAIE A= 120,000 0 120,000
Il 84,000
< 10,800
[ia 25,200
401 AlEHIZL 20| 120,000 0 120,000
Il 84,000
< 10,800
[ia 25,200
01 Al&H] 120,000 0 120,000
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SA: SRS
HH: 2304 BEBL
TP 25T AYIOHE BI2IAY (ciof 1)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OCE oien 922 WISAAE 2=
120,000,000& 120,000
| 84,000
= 10,800
o 25,200
S HHEXAIE X2 19,250 43,000 A23,750
| 13,475
& 1,732
o 4,043
201 L2 3| 19,250 13,000 6,250
| 13,475
& 1,732
= 4,043
01 At=22t2ld| 19,250 13,000 6,250
OSBH HHANAIE SX22
19,250,000& 19,250
| 13,475
& 1,732
= 4,043
2ot eHMAHIR HHXI 202,284 191,760 10,524
| 101,140
& 30,344
= 70,800
101 21| 182,336 177,560 4,776
J| 91,167
= 27,351
= 63,818
04 JIZtHI2Z2REE S 182,336 177,560 4,776
OMrE CHYED HEY 22 91,168
oolea(F2h 9,860« 10A| 2++365L 35,989
J| 17,995
& 5,399
= 12,595
0J1=2=(0fzh) 9, 8602 *8A| 23652 28,792
J| 14,3%
= 4,319
= 10,077
00FFEt 4,930 21+ A 2+53652 7,198
J| 3,599
= 1,080
= 2,519
fecpa=] 98,60021%301% 11 3,254
J| 1,627
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SN 2sHSY
HH: 2324 2EC
CHRl: 251 LI 2t2|AY (Crol: Mo
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
= 483
2 1,139
0=e1013 75,231,80094%4 . 5% 3,386
Il 1,693
= 508
2 1,185
AL =S 75,231,80094%3. 545% 2,667
Il 1,333
= 400
2 934
(ESplieEli=t 2,667,0002%12.81% 342
Il 171
& 51
2 120
0NE=E 75,231,80094%1.75% 1,317
Il 659
< 197
2 461
OAHEE 75,231,8002 %1% 753
Il 376
< 113
2 264
0E1=2 75,231,800&%1/12 6.270
Il 3,135
< %40
2 2,195
mEST:] 1,200,0002 1,200
Il 600
< 180
2 420
OMtE S22 HEA 91,168
0123(F2) 9,8602*10AI 23652 35,989
Il 17,995
< 5,399
2 12,595
001=23(0F2}) 9,86021BA| 23652 28,792
Il 14,39
< 4,319
2 10,077
00FHG 4,930 %4 A1 23652 7,198
Il 3,599
< 1,080
2 2,519
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2AM:
X{XH -
o /e

cH):

Pn
1]

MO MO0 [HO
for fol o
=9
30
T H
ro My
M3 e

sl £
[af]
>
[Q

S B SRI(BH) - HRAY - BAS

PIE]=>
e

3,000,000&

3,000,000

S

HoHN X M H

S

M H

3,487
1,046
2,441
6,000

3,000
1,500

450
1,050

3,000
1,500

450
1,050

6,000

HSAHE 2= - 2 X3 A

Mo W

551,200
275,600
137,800
137,800

64,000

487,200

Mo W

456,000
228,000
114,000
114,000

456,000

402 212tXH=01 S

Mo W

456,000
228,000
114,000
114,000

456,000

176,000,000

280,000,000

HH W

HH W

456,000

176,000
88,000
44,000
44,000

280,000

140,000
70,000
70,000

456,000

HSAE STAIAE RXES

SN2

H H W

95,200
47,600
23,800
23,800

64,000

31,200

H H W

44,700
22,350
1,175
11,175

40,000

4,700
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SA: 2SI
HM: 254 PE
ol MSAE 2 g X ALY CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
01 AFR e 42,700 40,000 4,700
ORSAE SHAIL D2I8Y 2 B4
44,700,000 44,700
= 22,350
= 11,175
o 11,175
401 AIE0IL 20| 50,500 24,000 26,500
= 25,250
= 12,625
o 12,625
01 AIZH| 50,500 24,000 26,500
OFSAE SIHAIL A
50,500, 000& 50,500
= 25,250
& 12,625
o 12,625
AME ASHS XY 10,726,924 9,393,713 1,333,211
| 302,371
= 212,268
o 9,812,285
CH 400,000
=eIXSsEs g4dst 7,423,837 3,783,532 3,640,305
Il 302,371
& 77,268
= 6,644,198
CH 400,000
Hs#zey 914,520 919,600 £5,080
201 e | 7,320 10,800 13,480
01 AtR22lt| 7,320 10,800 A3,480
ONSTEH3| +g 100,0002%9¢! 900
OMSIEIIZ2YRAA] 4+
100, 0002452 500
O3% A2 oEEAEA(ME DS n)
2,000,0002 %23 4,000
CEETICERESIEEESS)
8,000&*321x804 1,920
202 04t 7,200 8,800 21,600
01 =LY 7,200 8,800 A1,600
ONSHEALEZ
200, 00021%301 128 7,200
307 21201 A 900,000 900,000 0
05 DI2IRIER 900,000 900,000
OZTHSAL (SR BAR) 2el9lct
900,000, 000& 900,000
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2A:

=
gz AME A
o

el ZoN=sES 2ds) (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
MEFUIS MRS 2GR 245,045 176,200 68,845
307 eI2+o| & 190,045 176,200 13,845
03 RIIHHIHE2HHIE X 190,045 176,200 13,845
OUMEZHSS AR=2 28 XA
190,045,0002! 190,045
402 QIZERHE01A 55,000 0 55,000
01 QIZENGEAMLE AR (XM ) 55,000 0 55,000
OXt&-12d| 55,000,0002! 55,000
UM SIS KIS AL X 368,913 362,014 6,899
7 141,556
o 227,357
307 QI2+o| & 368,913 362,014 6,899
7 141,556
o 227,357
02 QIRHBAIAHE R 368,913 362,014 6,899
Ot XS i 368,913
0L BHMER S XIS AL 21248 XA
2,607, 7503%921+12& 281,637
| 140,818
o 140,819
XS B8x2 164,0002/%90! 1,476
7 738
o 738
0L BHMEHSXI AL ESXE 85,800
ousHl K& 150, 00021 %901 % 122 16,200
o3AHl K& 200,000 *901% 122 21,600
o ¥JI2s=E XA 13,800,000 13,800
0 A3 500,000 %901%23] 9,000
o Xt=g X 80,0002%9021x10 7,200
o HEFIIHI 1,000,000 +901%23] 18,000
H2AIME S XIS AL BHX] 240,942 236,343 4,599
7 94,371
= 146,571
307 QI2+0| & 240,942 236,343 4,599
7 94,371
= 146,571
02 QIRHBAIAHE R 240,942 236,343 4,599
OUZAME S XI =Xt BHXI 240,942
00{24l MEHSXISX 212AH] XA
2,607, 7503*621+12& 187,758
| 93,879
o 93,879
XS B8x2 164,000/ *60! 984
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2A:

. 286 MsgEs KA
el ZoN=sES 2ds) (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
pJ 492
o 492
0 EA MK A S2SKIA 52,200
o uSH| 150,000 *6 01128 10,800
o=Al 200,000 &*621+12& 14,400
o ¥JI2EY 4,200,000 4,200
0 A3 500, 0002 x621%23] 6,000
oAt 80,0002 +621x 102 4,800
o HEFIIHI 1,000,000 «621%23) 12,000
HESIHSMEH (=SS, BAN) 2SS 182,200 140,080 42,120
201 L2 3| 172,200 130,080 42,120
01 At=22t2ld| 22,200 26,160 A3,960
O=g% & dAY EH 22,200
OAAIE OHNEY ES
250,000& =123 3,000
O&DItMAEY EEA 900,000&*12& 10,800
0527| ALY 289
150,000&*12& 1,800
0ROIAHHIAAEY B 330,000 12 3,960
Ol T2 ) RSB Y
220,000 %12 2,640
02 Z523| 150,000 103,920 46,080
O==g& & dAY ZIR2= 150,000
0&I|123 9,800,000 12 117,600
0ABHEE RS 2,700,000+ 122 32,400
401 AIEHIZL 20| 10,000 10,000
01 AI&HI 10,000 10,000 0
O MSHH Ald2 |22l
10,000, 000& 10,000
ATXAH0IEH KA 67,200 102,457 A35,257
| 47,040
== 6,048
o 14,112
301 LBEAEZ 67,200 102,457 A35,257
| 47,040
== 6,048
o 14,112
01 A BEELHS(2DEZ ML) 67,200 102,457 A35,257
OAZXAZ0IEA XA 67,200,0002 67,200
7 47,040
& 6,048
o 14,112
ZOHIAZ=AR0I2H X 27,720 15,960 11,760
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SA: 2SS
HM: AME HsSES 1A
el ZoN=sES 2ds) (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
J| 19,404
[ 2,495
= 5,821
301 YEHEAS 27,720 15,960 11,760
7l 19,404
[ 2,495
= 5,821
01 ALBIERE G2 (ZDEXHR) 27,720 15,960 11,760
OFOHQ!l AZ=2E0|2H XA
120,000 +2101x 112 27,720
7l 19,404
[ 2,495
= 5,821
I 8,316 8,460 A144
[ 4,158
= 4,158
307 212+0|& 8,316 8,460 A144
[ 4,158
= 4,158
02 QIFAAAIIE R 8,316 8,460 A144
OX0He! HMES0l2| X2
924, 00024 +9CHH| 8,316
[ 4,158
= 4,158
I E ] 12,000 10,000 2,000
307 212+0|& 12,000 10,000 2,000
04 QIZFSHAIAIIE X 12,000 10,000 2,000
OZY OIS HSUS &It X
12,000,000 12,000
HEEIAIY S5 108,479 76,545 31,934
101 o124 35,899 34,895 1,004
M IIHR22ISES 35,899 34,895 1,004
OeHZEIEte 0|5 Q1| 23,786
0oz 78,8802%201x842! 13,252
0==g 78,88024%201%21 2 %150% 4,970
0=Xt=< 78,880%201x 172! 2,682
(=S 78,8802 %201+32 474
(=Ll = 21,378,00024%4 . 5% 963
0=HBEEH= 21,378,00024%3.545% 758
0LQIAD|QUBS = 758,00024%12.81% 98
0EEE= 21,378,0002%1.75% 375
OATHEE 2 21,378,000 % 1% 214
OeHZElot e 12,113
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2A: 23S
HM: AME HsSES 1A
el ZoN=sES 2ds) (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
0olE= 78,8801 %x201%432! 6,784
05YLE 78,88024%201x 102 *150% 2,367
0FRpE 78.8802%201%92 1,420
=Py = 78,880R%201x02l 316
0= 2E= 10,887,00024*4 . 5% 490
0=2HLEEE 10,887,00024*3.545% 386
0LQIEDIQLEE S 386,00024%12.81% 50
0UEZE= 10,887,000 %1.75% 191
OMMEE= 10,887,000 %1% 109
201 L2 A 22,580 21,650 30
01 AF222IHI 2,180 1,250 930
OSAY MAIS X RIS 2ALE
200,0002*13] 200
OUTEEI2 29 A2E ¢
1,500,000 1,500
OSZHI(HZEEI2 22)
8,0002%201%304A! 480
02 2229 20,400 20,400 0
OHZEYsME M|
1,000,000 %122 12,000
ONDEHSHE As+ER2
450,000+ 122 5,400
OHZER2 Hig24 |xzel
3,000,000 3,000
401 AlEHI L2 0HH 50,000 20,000 30,000
01 Al&H] 50,000 20,000 30,000
OMIZEEIR ALE SXES
50,000,000 50,000
EECCINENEIEST 180,000 170,000 10,000
307 212+0|& 180,000 170,000 10,000
04 QIZFSHAIAIRIE X 180,000 170,000 10,000
OZOIMESUS &It 12 L 2822
170,000,000 170,000
OZLIMESUS &It XN (22 DS SAH
) 10,000, 00084 10,000
AT MEHSUHSH 2} 140,000 130,000 10,000
307 2I2H0| & 140,000 130,000 10,000
04 QIZFSHAIAIRIE X 140,000 130,000 10,000
OZLMEHSUHEM 2t X
140,000,000 140,000
ZOIHS03) Kzl XY 280,000 220,000 60,000
307 212+0|& 280,000 220,000 60,000
04 QIZFSHAIAIIE X 280,000 220,000 60,000
O20lo & HKEAF X
20,000,000+ 11HSH 220,000
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2AM:

Hu aAne NSEE Kd
Pl ZONSES 243 (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SRR EVEFERE
60,000,00024 60,000
METR0E =4 60,000 30,000 30,000
307 21201 60,000 30,000 30,000
02 CIRIEMAIEE 60,000 30,000 30,000
OMEHEHE 4
3,000,002 x205 =2 60,000
XM= o OS] A 60,000 40,000 20,000
307 SI2H0I& 60,000 40,000 20,000
VEREINEEES 60,000 40,000 20,000
OFZ L THS| MSBAL HE L &It X
2 60,000,000 60,000
MEAS nd 29 5,635 9,660 A4,025
= 1,127
z 4,508
307 SI2H0I& 5,635 9,660 A4,025
= 1,127
z 4,508
02 CIRIEMAIEE 5,635 9,660 A4,025
Odes wa 29 805,000 *7m Al 5,635
= 1,127
= 4,508
MEHE T2 oY 7,200 7,300 A100
= 1,440
= 5,760
307 21201 7,200 7,300 A100
= 1,440
z 5,760
02 CIRIAMAIRE 7,200 7,300 A100
OMEIE T2 29
2,400,00021+374 7,200
= 1,440
= 5,760
R EEPSEE=VEET 15,000 11,000 4,000
307 21201 15,000 11,000 4,000
02 BIRIFAAREE 15,000 11,000 4,000
ONg24H4 SN
1,000,0002 1552 15,000
SIMMETSAIE AIE 6,000 6,000
307 21240 & 6,000 6,000 0
02 CIRIAMAIRE 6,000 6,000 0
OHERIE SIIMEHSAISE A8 XY
1,500, 0002 x4} 2 6,000
3UHS 54 N2 60,000 70,000 10,000
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2AM: 2SS
. 286 MsgEs KA
el ZoN=sES 2ds) (Ctol: ®M2l)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
307 eI2+o| & 60,000 70,000 210,000
02 QIRHBAIAHEE R 60,000 70,000 210,000
OZ2MA &otet X&5&:d X3
10,000, 000& 10,000
O3L=R s4XI& 10,000,000 10,000
Ogatsty = Y 8 X
30,000,000 30,000
OZ2NN S=48 N2 dLU3l X
10,000, 000& 10,000
StNAHHE BBAEXZEYH AKX 64,000 64,000 0
307 QI2+o| & 30,000 30,000 0
02 QIRHBAIAMHE R 30,000 30,000
OUEERAT XY SHXE
30,000,000 30,000
402 QIZERHE0| A 34,000 34,000 0
01 QIZENGEAMSE AR (XM ) 34,000 34,000 0
Oxter lE| 12,000,000 %2CH 24,000
ORI 10,000,000 10,000
HXEHE R 163,000 181,200 18,200
201 2| 3,000 11,200 28,200
01 At22teld| 3,000 0 3,000
ONXzd 88 28 7Y
3,000,000 3,000
307 SI2t01 & 160,000 170,000 A10,000
04 QIZISHAIAIREE X 160,000 170,000 A10,000
OdXlzdd sX K& 160,000,000 160,000
CHal JH=El XIR 171,000 0 171,000
307 eI2+o| & 171,000 0 171,000
04 DIZHHAIAIEE X 171,000 0 171,000
ON= QE 303l =l
40,000,000 40,000
OXlelat M3t HILIACHS] JHA
20,000,000 20,000
OB AT AT SHOrE tHal JHE
30,000, 000& 30,000
Odd #YUE 5702 =
20,000, 000& 20,000
O3LEXALD| HOIESUHS! W=
23,000,000 23,000
OJjgheter 2502l Jizl 8,000,000 8,000
OuEZ i SIS izl
15,000, 000& 15,000
OuHEZ = ZR0E] iz
15,000, 0002 15,000
AT M=2R4AE S0E JHE 62,000 62,000 0
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A 2SI
HH: HME Y= XA
ool ZUNSES 243 CEREERD
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
= 12,000
z 50,000
307 12| H 62,000 62,000 0
[ 12,000
z 50,000
04 QIZHHAIAI B X 62,000 62,000 0
OMHZLH MIRAESUE] HE
62,000,0002 %12 62,000
< 12,000
z 50,000
FENEEE 10,000 10,000
307 QI2H0| X 10,000 10,000 0
04 DIZFHAIAI B X 10,000 10,000 0
OM=2l stetaiAt 10,000,000 13 10,000
AHPHEDCG 2HX|2 564,667 575,713 A11,046
[ 50,000
z 514,667
201 L2 S| 28,000 23,240 4,760
01 AFR2t2IHI 10,204 10,800 159
Oul4ct 22 U 22285 29
250,000 %43 1,000
ORI dE(s8IIe) 767,000 * 122 9,204
02 2229 17,79% 12,440 5,356
O332= ¥ HAl 7,440
OOHIIE 22t 350, 0002 * 12 4,200
0ZAIDIARS 150,000 * 122 1,800
0CIHYAIEZ 40,0002 %30} Ax 122l 1,440
Oy =L IN: ]! 130,000 % 12 1,560
Oxg FR(=E1=) 796,000 7%
Os4 2 2% 42144
3,000,000 3,000
Or=ALERY oi5]H|
5,000, 0002 5,000
301 YRHEAS 536,667 552,473 A 15,806
[ 50,000
z 486,667
RosHe - 2SRSEA3 536,667 552,473 15,806
OQI4H| 310,000
0= 60,000,000 10! 60,000
[ 9,660
z 50,340
0&4=(B3) 55,000,0002 %291 110,000
[ 17,800
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2A:

. AWE HKES X
&P ZOXSEs 435 (CHRl: &)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
= 92,200
0&4=(B3) 50,000,000 190! 50,000
& 8,050
= 41,950
0&4~(C3) 45,000,000 *20! 90,000
= 14,490
o 75,510
o4t B&8s 35,000,0002 35,000
EIX gz 21,666,6602 21,667
O=dt| & =dZ4| 138,000
0L =&=H] 300,000 %12 3,600
0REX ] 200,000 %12 2,400
02l X 400,000 %122 4,800
O =Z&H| 35,000 *501%240 2! 42,000
0XXl=&| 90,000 *601x302! 16,200
otaIEd & 90,000 *621x60 32,400
(JSES=P= 700,00024*601*435] 16,800
0EEZAZ 3,300,000 +60! 19,800
ou=sE+sa| 500,000 %601+4 3] 12,000
O3] 5,000, 0002 *43| 20,000
ME FSRME ASAMS 3,400,000 0 3,400,000
= 3,000,000
CH 400,000
401 AEBIZ 20| 3,400,000 0 3,400,000
o 3,000,000
CH 400,000
01 Al&H| 3,400,000 0 3,400,000
OM=z SRME HESA
3,400,000,000& 3,400,000
o 3,000,000
CH 400,000
SSMSAIE 22| 2,208,087 2,610,181 A402,094
SBMSAE2E 511,087 477,181 33,906
101 Ql24y| 151,227 146,661 4,566
04 JIZtHI2 2R EE S 151,227 146,661 4,566
O32MSHH 22| 28,347
(== 78,880 101x2602! 20,509
0=t 78,880 101x502! 4,102
0 Xt 78,8802%101% 11 868
0=21=3 25,479,000 %4 . 5% 1,147
0=UAZEE 25,479,00024%3.545% 904
0o QABE S 904,00024%12.81% 116
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2A:
PSE
o /e

Saak

SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OHEMEHsER FH SFE
78,8803 *121+50 3,944
201 LBtAY| 348,660 319,320 29,340
01 AtR-2teld 60,328 62,608 2,280
OSIHFER 2 22,0002+ 12427 8
O3SHSAAE & ARE 7Y
100, 000&*8IH A 122 9,600
OMREZ 7Y 50,0002 %122 600
OFL2AEBE 2
50,0003 *8IH A+63 2,400
oMot =g 3,000 800l * 12 2,880
OAlUMSZ 2 7T ARE 72
200,000 *8H 2 1,600
OAIIBE(2Y UE 5)7
600,000& 54 2+23] 6,000
OF+I| o2 35,0002 6] A 122 2,50
O3J18d)] tlo2
40,0002 %30 A 128 1,440
OagorMze It At WSY|
240,000& %321 720
OFIIQHHEY 222 700,000 122 8,400
OLU2ATR2UEH =2
1,300,000 * 12 15,600
OAlUMs2 S2)| HFEY 89
130,000& *12& 1,560
ORNI3BE Ald2 HI|tEEH &
2,500,000 %270 2~ 5,000
OSSHI(HMSAEERFE)
8,000 *321x804! 1,920
02 S=2Z| 288,332 256,712 31,620
03322 ¢ HMAl 249,432
oAolgea 8,00021%7 ) Ax 122 672
0&IIR= 248,760
oAUz 3,300,000+ 12 39,600
o 2 MEISHIH
2,000,000 *12& 24,000
oMENZIH 2,000,000+ 12 24,000
oSHERSHE 2,000,000&x12& 24,000
o AFEI0IXISHIH
2,300,000&12& 27,600
o HRMETISSH
1,500,000+ 12& 18,000
o EXHZ3& 1,700,000« 122 20,400
o HEXT UISEAIL
300,000+ 12& 3,600
o MHESENIFHEH 800,000 %12 9,600
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SA: 23S
M AXE HSBE XA
CHel: RERASAILZE (crol: 2i21)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
oAEg Jotec 2oz
150,000 2% 122 1,800
oCH MARTE
150,0002* 12! 1,800
AR J2lRCDIE
150,0002* 12! 1,800
OBILIA, 2EE, FaE
1,300,000 * 122 15,600
0B CIZNFSAIL
700,00024% 122 8,400
oAIor EE12E 500,000 12 6,000
oA IIABTA SHAIL
200,000 122 2,400
o XarmE 200,00081* 122 2,400
0AAZ HSAILS
100,0002* 12 1,200
OSHETHSHOIESR
345,000 %1200 A %42 16,560
QOalol=E22 1,725,000« 122 20,700
OX3R2 Y OIEY
25,0002 +6 I Ax 102 1,800
OZZAHSAE 22| 82 S 7
400,0002+6H A 2,400
OAEZHISXIHI 14,000
0XIOH EILIAT 22| 22 ¢ 2,000
o0xs 5,0002*400 % 2,000
QALIHISZ JIHA &H SX2%
50000024+ 13] 500
042X JIHA Yl RXES
500,00021 %20l A*13] 1,000
OFDIAIE 22| SXES
50000024+ 13] 500
OHISAIY AT S|
2,000,000 %57H A 10,000
202 018 7,200 7,200
01 =Kol 7,200 7,200 0
O ENEEERS-
200, 00021%301% 122 7,200
206 M= Hl 4,000 4,000 0
01 X2t 4,000 4,000
O+222I8 HIZ, SlHl, OIE 2
500,00024+83] 4,000
ARD ASALEE 1,697,000 2,133,000 436,000
401 AI2HIZ 200 1,697,000 2,113,000 416,000
01 Al&H 1,697,000 2,113,000 A416,000
OHISAIE B4 L 288X
300,000,000 % 14! 300,000
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2A:

M AHME Msgs N
&2l SESHSAlIE 2t EEEED
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OSH HMSAE 2BAt
154,000,000 14 154,000
OSd o237+ EAtE
5,000,000 *11JHA 55,000
Ot HE3d 3= ZEAME
600,000,000 *14| 600,000
Odblg IIFEZE F=XE Al
200,000,000 14! 200,000
OdHIZ SHOHE MSAIE HESA
50,000,000 * 14| 50,000
O&EALIMF 2 Al A
130,000,000 * 14| 130,000
OMEHSZE E7& TLIHLBAl
3,500,000 *8IH A 28,000
Oxtad MIIEZASE LA
110,000,000 * 14| 110,000
OXtEHOIE=ZE ZHISA
70,000,000 * 14| 70,000
SSHSAE 243 1,095,000 3,000,000 21,905,000
& 135,000
i 960,000
S0 MEHSE HMSAIE ZHIASE (HEAI) 450,000 0 450,000
= 135,000
i 315,000
401 AIZHIZ 20| 450,000 0 450,000
= 135,000
i 315,000
01 Al&H] 450,000 0 450,000
OYsHIVIMEEE MFAE FHIAE
450,000,000 *14] 450,000
& 135,000
i 315,000
AN D=0 SdAN 300,000 300,000
401 AIZHIZL S0 300,000 0 300,000
01 Al2H| 300,000 300,000
Oty a=0d A
300,000,000 *14| 300,000
2F It 52 TdAE 345,000 345,000
401 AlEHIL R 0HY] 345,000 0 345,000
01 Al&H] 345,000 0 345,000
O2F IHidds =78 THAEY
345,000,000 * 14| 345,000
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